ST =g
e - R $£3 )
A ig 5o o EN
POWERED BY | W, 2 2 g 8l
3 HSE Au oMk BT
J .2 sLn s g Z Lt} z |
o -3 T
1 iw: y Ef 2 =
wi P §§ oo 32
* ;%—; ’8' A Ek ZE0 5§
DOOR COMPONENTS MADE IN THE USA 1328’;-...55 ) - 5 i gé
] ::" Zow o
RLGREAS 5 8R. gg
s 952 ,C
g § m © Ok
37.72" MAX. , § 592 Ep
FRAME WIDTH 74.66" MAX. FRAME WIDTH o @ oo 9 é
. . 3 § =
PanolLock Multi-Point Lock e 3
E K 8
in a Single or Double Door :
g I [ ”
INSWING / OUTSWING 5 o 55
£ Z [
"NON-IMPACT" 5 2 =
= 3 g |y 853
O = S |2 S«
¥ B Ll o &
LI i % -4 &
= T < <
<« W ] e x 1) (?)
¥ 2 S S| =
< @ 3 e T
o — e e —_— £ g o
EVALUATED FOR USE IN THE STATE OF TEXAS X o X o X ° X
The Fiberglass Door system described herein complies with the 2018 Intemational § < 2
Residential Code (IRC), Sections R301 & R409 and the 2018 International Building 3. <§< i
Code {IBC). Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the NIV
following conditions: RN H
[+ 8
1. Anchors shall be os listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.
2. When used in areas requiring wind-bome debris protection this product is 2
required to be protected with an impact resistant covering that complies %
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. E
3. Allowable design pressure requirements must be equal fo or less than the &l
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS % =
SHEET # | DESCRIPTION ©
] Typical Sections, Design Pressures & General Notes L MAX DESIGN PRESSURE (PSF) o
2 Door Panel Details PanoLock Multi-Point Lock CONFIGURATION FRAME INSWING QUTSWING Z
3 | Door Panel Details DIMENSION | POSITIVE |NEGATIVE | POSITIVE |NEGATIVE DATE:_6/16/21
4 Elevations scAlE: N.T.S.
5 | Vertical Cross Sections X 37.72"x 97.94"| +75.0 -75.0 +75.0 -75.0 DWG. B:  RW
¢ oo Crom Sl
8 Bill of Materials & Components XX 74.66"x 97.94"|  +50.0 -50.0 +55.0 -55.0 PRAVING NO: -
TX-5215
SHEET _1 oF _8

ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX (Sub ID...) OPAQUE X XX PANOLOCK\C - Drawings\TX-5215.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



— i
wsarnl R
07 Sk ;}u“! e o
) - 3.7 0.5" 07" 3.6" —— 0.46" ~ ‘fb..«"‘i 9 S, :(é = 10 H g
L S 0_4" P ot~ * : ,&‘-\...-‘ :' z T . Je* o3 Ll 0
0.4 S iR} £+ B ze
~7 iGiem Nlow dm ey
u u u * * wd inin Slet = g W
: o P ju i ¢ N T et e
' i i 4 iz io 3 S o
. =z £z 1R R : o, B WEE Efg of
q- o . / SRTE . TR i ) gom BE
‘ 7 & o8 §g
[+
/ CAP \ \ 3 237 4.
PVC CAP LOCK STILE (LVL) (PVC) (LAMT"Q";\?EEDS&S o) LATCH STILE : 3.E 0
HINGE STILE (LVL) SECTION A-A SECTION C-C. {LAMINATED WOGD) £ RS 35
- m =
STEEL REINFORCEMENT ——— £ = gﬁg
1.4'X0.13" X 92.75 : SO L
8
. ; _ TOP RAIL
8575 — OPRAL % (COMPOSITE/ENGINEERED o
B (comp) ~~lL: ! D WOooD) 2 29
\ l & |3 <k
1 oSS
= = R i ; 43
R . : <
= = R = = 3 2 o
- -] L - - =
A ‘— “lA ERGLASS o Cf 1C F!BERGLASS\ £ %
S SKIN
SKIN - N &
- /i .
& 1/4 ¥
R x
L] ,7 L]
— — . — =
X o ,F=;,XF=;, FOAM CORE 2
= FOAMCORE~]| = -~ 3
™. ol
[r el
= k= BOTOMRAL || = == BOTTOM RAIL T
T i D =
S
et ] '75" | d
FIBERGLASS DOOR PANEL =
Plastpro 80" FIBERGLASS DOOR PANEL SECTION D-D N 6/16/21
Opagque SECTION B-B Therma-Tru 8-0 scAe: N.T.S.
Opaque DWe. B:  RW
CHK. BY: LFS
FIBERGLASS SKIN: 0.075" MIN. THK. DRAWING NO:
FOAM CORE: POLYURETHANE
SHEET _2 OF _8

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX (Sub ID...) OPAQUE X XX PANOLOCK\C - Drawings\TX-5215.dwg

@ 2021 R.W. BUILDING DONSULTANTS INC.



TON] SANVLINSNGD aNIgTng "Mm'a L1202 @

ZS8Li~4 # NOLVHLSIORY 40 ILVOL4LNIO SIvIIa SNOISIAZY i
SMIANIONI TYNOISSAAONd 40 QuvOd SVXaL A8 31va [ONf~— 0
TANVd ¥004 NG =0 v
L616'6S9'CL8 T"ON suoud : HElh T
CEEEE 14 OOMID.. Oz XOH O \Sﬂ@. XTEN3SSY 90 Luvd S j= S8
"ONI ‘SINVLINSNOO ONIaTing > s z W_ 3_
&2
SZIPOL# F'd SYXEL VANANI o m ol w ]
‘3'd IPILYDS "4 UOPUAT  :Ag pedodeid sjuewnooq 110Nd0Yd 21818518 5
jury - :N.— - :N.u.
=
= T Y
z \ .& * e
) = 8 N =z
T 3 RO
_ - — s
L E « m
v J /
o | 5=aQ8 =9 < g =3
P ¥4 2% =
0= ¥ O
bk SF3 o S 3a
mw O
w z
L
i
Q
—
e :
3
< L m =
| I Z z%
: . M - =T
| o < kd
m - | | | | |t 838 &2
: in O s
: N x = 0OE DB r
| | _ <80 o &
; <3S g
* _ 0= e
oy o ==
0 = = T = 85
fl [~y - o
..H'll m B _.WN.WQ
O
e
[ ._WN. _r e T

Bmps125-X1\sBumeld - JVIDOTONVd XX X INDVAO ("l Gns) XXXX-¥Q - 1aL\su} Jo 1daq sexal - S\LNINVINYId BINPUI\SIBIDNZ



*ON} SINVLINSNOD anNiaing ‘m°s Lzae (@)

268LL~d4 # NOLLVHLSIOFAH 40 IALVOLHILY3D @ SNOISIAJA JIva TON
SHIINIONI "TVNOISSI40Md 40 QHVY08 SvX3l SNOUVYAT T3 m " W n_....bn o) OOn
L6LB'6GO'TL8 "ON 8uoyd v : -~ ~ s
$6GEE 14 OOMIDA OFZ Xo8 'O'd \Su@. ‘AHNESSY HO Javd e _M g Q|
"ONI ‘SINVLINSNOD ONiaTing > s 2 1 4_

.. B2 ~

£ZLY0L# 'I'd SVXIL VANAaN3 i w I w &
‘q'd IpIUYyos 4 uopukl :Ag pespdesd sjpuswinooQ :10NQoyd HEIEHEE &

X

ELEVATION
XX

oD

mh=g ==
B
N

<

@
q
= =
X
ELEVATION
X

A
b
D

Bmp's1z5-X1\sBuimelq - DVDOTONYd XX X INDVAO (Al ns) XXXX-¥a - [4L\su] J0 3daQ sexal - S\LNINVINYId Bnpus\siuslid\:z



‘ONG SANVLINSGNOD aNIgTing "M L0z @)

2S8LL—d4 # NOILVMISIOZM 40 3LVOIILY3O SNOISIAJY i
SHIINIONT TYNOISSII0Md 40 quvos Svx3l SNOILOTS SSOHD VOLLHAA Ag 310 JONjfw— =lo| v 8_
NI EA L
L616°6G9°CLE ON euold : NelxelSsl Tle
S6GEE "1d OPHIPA 0£Z Xog 'O'd \Sggu ATENISSY M0 Ldvd I _.N: 8 Q| °
*ONI *SINVEINSNOD oNIgTIng > s | s = J 5_
) . B2~
£ZTIYOL# "3'd SVX3L VUNAaN3 8 m Sl w &
‘F'd IPIUYDS 4 uopuky g pedsodead sjusuinooq :10NaoYd ZIG1E|5|8 =

TRARRAALET

SINGLE DOOR CONFIGURATIONS.

NOTE:
1. SILL ANCHORS ARE NOT REQUIRED FOR

EXTERIOR

7.
(k) woop
(D) concrere

AN

BT

/]
INTERIOR \/\

/“3"\ VERTICAL CROSS SECTION

W Outswing sill

ANISO
WS1°0

,,,@
©
|
@

7
INTERIOR

-
y
4
b
y
¢
1
]

*%\/
/"1 "\ VERTICAL CROSS SECTION
\U Outswing shown (Inswing similar)

EXTERIOR

—
EXT. SHEATHING —\

K ) woob
D ) CONCRETE

EXTERIOR

8

A

/" 2"\ VERTICAL CROSS SECTION

w Inswing sill

INTERIOR

Bmps125-X1\sBumeld - JDOTONYA XX X INDVHO (™"l ans) XXXX-¥d - IaL\su} Jo 1daq sexs] - S\LNINVINYI BINpUI\sIuald\Z



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-XXXX (Sub ID...) OPAQUE X XX PANOLOCK\C - Drawings\TX-5215.dwg

DRYWALL ‘\

INTERIOR

A\ Y

EXTERIOR

015"

Q=

W

N

3
'y
T
N

7

EXT. SHEATHING X

m HORIZONTAL CROSS SECTION

w Qutswing shown {Inswing similar)

/"3 HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

0.15" DRYWALL
C'SINK r” /
7

INTERIOR

N

EXTERIOR @/
@ @ EXT. SHEATHING

/"2 "\ HORIZONTAL CROSS SECTION
w Qutswing shown {inswing similar)

A\

uj
2R
£3 0
o
£2 0 5o
£ B Fe
hy OB 6"!‘
h:D. = 'S EL‘-
Jo
c gz’l’-e— L
°§ Eo® 32
2 I L2 60
§F REB Bf
2 S35 Ok
Aa>n O
Zow 5b
s 8R. o
L
g 58. S
C
8 =50 2
9 50¢ EE
o mon og
2 = =
3]
£ B
0
[s]
)
=z
o
S
[ry]
73]
g | 2
2 s o
= a X
&G = ©
-
3 =
<4 =
- o
3 3 N
2 ©
5 Bl S
x© E X
a. [a
>
o
)
z
@)
2]
o
L
<
o
o
z
DATE: 6/16/21
scake:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5215

SHEET _6 OF 8

© 2021 R.W. BUILDING CONSULTANTS INc,



" \ .
6 (1P) —| = | | ,\fgi’*‘f"m &0
. - - — FoNDueri Q 53 "
l & \é\ Tl ‘g 2 0
1T = o ENIN s& B £f
T - o s : 0 Li 1] " ] T
"y @ \ B e HLAT g Qﬁ w2 e @
o == vl = M .< ot i c 22 =
- - E o< @ 2 --',,>@ AN §3 £33 32
HEAD & JAMBS & SEE HINGE e [je o i gl 228 00
(TYP.) =a DETAIL 1 A iz 3 338 g%
R (3PLCS.) . \ ?‘*x *xi> 2on Lk
- - = . %ia SEE LATCH S Toladann™ 5 8R. Eg
s o) o <
7N DETAL N HINGE DETAIL 1 3 23% b,
p= g 2 G 8 m:
I~ X o — o g Baf %
Q
e s -(D 2 R E
Lo || g &
v SEE HINGE ] s E R gg
5 | a DETAIL 2 ON: >@ :
i 18
— ™~
it S
- — U
X0 ﬁ —i HINGE DETAIL 2
/ 0
S
- o <<
2 |l S
- — N L\ 3 § S
The head is attached to the jamb w/ HINGE JAMB STRIKE JAMB ™ 7] Lﬁ"
(3) 7/16" x 2" steel crown staples (TYP.) ] 4" (TYP.) [B = 2 fé
. &
4 (1YP) ~—>] 6" (TYP.) —~] g S
_ T e s |
l 1Rt ] & &
N 1 \
DETALL 1 N ) &
& LATCH DETAIL LATCH DETAIL
— ~ = L @ JAMB
HEAD & JAMBS @ ASTRAGA
(TYP.)
FRAME (3PLCS) :
(TYP) ~~ ] 2? 2
Q
%
B X X ~ ¥ A [\‘O\:]‘\ 5 él
B . I DETAIL 1 \®
T 5
CONCRETE Q SE o 1/2" DIA. HOLE L
- in U \ p:S
woop(K) 25 i
S“_L DETA". 2 e @ Q\\ @ = E S m\ ES CZ)
NEAYD SR L E B/16/21
5" (TYP _4\ I _ ) DETAIL2 /2 DIA HOLE DETAIL 2 mnwc BY ' N.T’.?a./
( o ; | ASTRAGAL STRIKE S (INCAP) T il
(TYP.) —— nswing Outswing WOOD cHK. B:  LFS
The threshold is attached to the jamb 4" (TYP.) —] = DRAWING NO.:
w/ {3) 7/16" x 2" steel crown staples & CONCRETE TX—-5215
(1) #8 x 1-5/8" wood screw ({TYP.) FRAME ANCHOR’NG
SHEET _/ oF _8

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX (Sub ID...) OPAQUE X XX PANOLOCK\C - Drawings\TX-5215.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX (Sub ID...) OPAQUE X XX PANOLOCK\C - Drawings\TX-5215.dwg

. Concrete anchor locations at the corers may be adjusted to maintain the min.
edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance fo mortar joints, additional concretfe anchors
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded.

. Concrete anchor table:

HOR

“TTW BUILDEX

5 e 1-,”2,“
TAPCON 1/4" 1-3/4" 2 4
DQWALT " " " ud

utiracon| Y 1-3/ ! 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of wood screws
to prevent the splitting of wood.

BILL OF MATERIALS

TEM # | DESCRIPTION MATERIAL
B | 2X FRAMING [SG >= 0.42) WOOD
C | 1/4" MAX. SHIM SPACE ;
D | 1/4" PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F | #10X 2-1/2° PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
G | 3/16 PEH TW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
K| #10 FH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
1| FINGER JOINTED PINE JAMB WOOD
7 | WEATHERSTRIP FOAM
8 | SWEEP PVC
9 | #9 X 3/4" PFH WOOD SCREW STEEL
10 | #9 X 1" PFH WOOD SCREW STEEL
11| 4'X 4 BUTT HINGE STEEL
13 | INSWING THRESHOLD ALUM/COMP
14 | OUTSWING THRESHOLD ALUM/COMP
26 | #8 X 2-1/2" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE (JAMB) STEEL
28 | LATCH STRIKE PLATE (ASTRAGAL) STEEL
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
50 | ENDURA ULTIMATE PANOLOCK ASTRAGAL ALUM
51 | ASTRAGAL BOLT STRIKE PLATE STEEL
52 | #10X 1-1/2' FH WOOD SCREW STEEL

CONCRETE ANCHOR NOTES:

’ 4.56"

[4— 1.4" —

! 2.36" !

( : ) WOOD JAMB

4.56"

13 INSWING ADJUSTABLE THRESHOLD

ZAIL4565

——-1.82"

~/

2.65"

0.062"

@ ENDURA ULTIMATE PANOLOCK ASTRAGAL

ui
* Ny
ST > 8
o SQS ".6‘@' (]
-7‘,%,.-"': -— e, =0 0 E! %
AT PZ i Ex 9 uoe
ﬂ(‘/.‘ H 1 0 Z
P i Q. ] -
Py N . : 0 L [& 3 4]
: S0 0%m o Z z,)
o Z4idyioin w2 ap 8
S B9 PNiwiy 4 £05 37
Pt ] 9 Qo ZZ
oW 12 oW £ 089 &6
e, QT SFBL8 ae
g, (91 N\ S 584 0
o iz N pop U
0% i S #7900 53 g
Kt *’:"J: ??‘u":“ N SR': &
WMyadane® o o x3 o
k] L.
B Zd, Oy
R
] 50¢ (4
& non S«
mo
P = ,E
c §§
P L)
E @% o
3 Ll
8
il
.| E3
® ==
3 o O
a |xn =o
pd o LLE
b |3 &8O
Wl OO0
)3 "’@
d
456" | . Q2
5 o
Q o
o =
14 OUTSWING THRESHOLD e x
10BL4565 b o
>..
o
%)
=z
O
2]
|
o
L
<
o
O
=
DATE: 6/16/21
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—-5215

sHEer 8 oF 8

© 2021 R.W. BUILDING CONSULTANTS ING.



